[Hinterland <«—>» Foreland

P50)= Py Py = P
Q

/J

e I
X Y " 180°= I
2.5

Py=P,(0) —L —H,

P,=P,(0) 0 0 2 -
B —L,+Hxtan(D/2) 0 150° 1.5 %
B|P,.X—P, P,*cos(D) P, P,%sin (D) -1 3
B —L,—P,P,kcos(D) |—H,+P,Py*sin(D) --0.5 0

—~ 120° ®

— ) ° E

P;P,+P,P,=P,(0)P,(0) g’ 0.5 g
1}

P, P,=H*[tan(D/2)—tan(D,/2)] 2 o0l 1 5:'
P, P,=H *[tan (D,/2)+cot (D,)] 3 )
S
P,P,=H,xsin (U) S 2 N

- 8 60° L2.5
pP,P,=P,(0)P,(0)-P,P,—P,P,—P,P, S
P, P,=P, Py¥cos(D,)+H *tan (D,/2)-P, P, 2 .
PP _d@P) _ ,, d(sin(U)) = o
d(D) d(D) 0 d(D) 30° Du=20°
{ s — ASH
- o//
AS=FF, 1 >
0° T T T T T T T T T T T 1
P,.Y-P,.Y 30° 60° 90° 120° 150°
U=D— arctan(;)*
B) |( P,.X—P,. X O) D (Dip of pre-growth layers)

- J J




